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(
������	�������	 )*��� �
����		�+ ���� �
� f *��� 
� �������� A ⊂ C 	���#��� 
�	�����	
 F

F ′(z) = f(z) ∀z ∈ A
�		� ∫

γ

f(z)dz = F (z(b)) − F (z(a))

��� γ = {z(t) | t ∈ [a, b]} ���
	���	� �����!��	���

⇒ ,
� γ 
� ��������+ �		�

∫
γ

f(z)dz = 0

-
	������+ �
� f 
� �����'� �������� A ��
∫

γ
f(z)dz = 0 �
��	����� ����������

���
	���	� �����!��	����� γ*��� ⇒ f *��� 	���#����	�����	

"z0 ∈ A �		���� �� z ∈ A$

F (z) =

∫
γ

f(z)dz

�
��� γ 
� "���
	���	� �����!��	���$ �
��� z → z0 A*���

�������	 ))* ,
� p �� q 
'�� �������� A ⊂ R2 �����'	� R ��'
	�	� �����	
	��+
�
	��� 
�	���	����	'����� 
'�� 
�������+ �� 
'�� �����'	��

.��

� γA ∈ A �����	������ ����������

/����	� �����*

∫
γA

(qdx + pdy) =

∫∫
A

(Qx + Py)dxdy

�



� �� ������� ��	
����
�
���


.��

� ��� f = u+ iv �������� A ��������	��� �����	
+ �
��� f ′(z) 
� �����'�
A*��� �� γA*���
"γA 
� �������� �� ���
	���	� �����!��	���$

-���!	�

∫
γA

f(z)dz = 0 �	���∫
γA

f(z)dz =

∫
γA

(u + iv)(dx + idy)

=

∫
γA

(udx + (−v)dy) + i

∫
γA

(vdx + udy)

�
������� 0��1�� &	����� �����!�

=

∫∫
A

((−vx) − uy)dxdy + i

∫∫
A

(ux − vy)dxdy

2�� A*��� ux = vy

uy −vx
"0��1�� &	�����$

⇒ ux −uy ≡ 0
uy +vx ≡ 0

}
A*���

=

∫∫
A

0dxdy + i

∫∫
A

0dxdy = 0 + i0 = 0

⇒
∫

γA

f(z)dz = 0

����� ���� 0��1�� 0
�����*

.��

� f ��������� A ��������	��� �����	
 �� 
��

� Δ �������� A �	��	���'�
�	��	'����	��� �
��	
� .��

� �������� γΔ ����� �
��	
� �����	������ �� 
���������

-���!	�

∫
γΔ

f(z)dz = 0 �

�
�

γΔ



(
������	�������	 ))  

!��
�����

.��

� Δ*� ����	�	����� A, B, C+ �
	�	� ���
�� Δ = ABC

.��

� E, D, F �	'���� AC, BC, AB ����	�	������ -���!	� ��
 
�
���� ����� �
��	
�� ΔI , ΔII , ΔIII , ΔIV

.��

� γI , γII , γIII , γIV �
�	�		'	����	 �����	������ �����������

-������������ 	���#����	�

∫
γΔ

f(z)dz

�

�

�

A B

C

E D

F

I

II
IV

III

���

��� ���
�
��=

∫
γI

f(z)dz +

∫
γII

f(z)dz +

∫
γIII

f(z)dz +

∫
γIV

f(z)dz

�
��� 	���#����	
∫

ED
+

∫
DE

= 0 ��
∫

FE
+

∫
EF

= 0 ��
∫

FD
+

∫
DF

= 0

,
� LΔ 
� �
��	
� ABC �		�	� �	���� �		� LΔ = 2LΔk
, �	��� k = I, II, III, IV

��'	
	���� ����������

|I| =
∣∣∣ ∫

γΔ

f(z)dz
∣∣∣ =

∣∣∣ ∫
γI

f(z)dz +

∫
γII

f(z)dz +

∫
γIII

f(z)dz +

∫
γIV

f(z)dz
∣∣∣

≤
∣∣∣ ∫

γI

f(z)dz
∣∣∣ +

∣∣∣ ∫
γII

f(z)dz
∣∣∣ +

∣∣∣ ∫
γIII

f(z)dz
∣∣∣ +

∣∣∣ ∫
γIV

f(z)dz
∣∣∣

.��

� Δ1 �
��	
	��� ��+ �
���
∣∣∣ ∫

γk

f(z)dz
∣∣∣, k = I, II, III, IV 
� ����	�

⇒ |I| ≤ 4|I1|

-������ '�����'� ��
����	 �
��	
��� Δ1 �
��
	� ������� Δ1*��� 
���
��	
 Δ2+
�
��� ����� '�����'���	 |I1| ≤ 4|I2|
⇒ |I| ≤ 4|I1| ≤ 4 · 4|I2|

,�������� �������� �� ������� �
��	
	��� �
�
 Δk, k = 1, 2, 3, ... Δk+1 ⊂ Δk

|Ik+1| ≤ 4|Ik| k = 1, 2, ...

|I| ≤ 4n|In| ,
� Lk 
� �
��	
� Δk �		�	� �	���� ⇒ Lk+1 = 1
2
Lk k = 1, 2, ...

�� ���	����	 L = 2L1 = 22L2



" �� ������� ��	
����
�
���


⇒ Ln = 1
2n L ∀n = 1, 2, 3, ...

2�� f 
� ��������	��� A*��� �� z0 ∈ A ⇒ f ′(z0) 
� 
������� �� 
� 
����� 
�� �����	
 ε(z − z0) = 0 �
���

lim
z→z0

ε(z − z0) = 0 ��

f(z) = f(z0) + f ′(z0)(z − z0) + (z − z0)ε(z − z0) ��� z ∈ A

�	���

|In| =
∣∣∣ ∫

γn

f(z)dz
∣∣∣ =

∣∣∣ ∫
γn

(f(z0) + f ′(z0)(z − z0) + (z − z0)ε(z − z0))dz
∣∣∣

≤
∣∣∣ ∫

γn

f(z0)dz
∣∣∣ +

∣∣∣ ∫
γn

f ′(z0)(z − z0)dz
∣∣∣ +

∣∣∣ ∫
γn

(z − z0)ε(z − z0)dz
∣∣∣

(���	 ���	���	��� 	���#����	� 
'�� �
��	�+ �	��� f(z0)*��� 
� 	���#����	���� 
�	
 f(z0)z "��
��� f(z0) 
� '��	
$ �� f ′(z − z0)*��� 
� 	���#����	�����	

f ′(z0)(

1
2
z2 − z0z)

,� �����	���� �����	
	��� 	���#����	� ����������� ���
	���	� �����!��	���� ����	��
��	 
'�� 0�

⇒ |In| ≤
∣∣∣ ∫

γn

(z − z0)ε(z − z0)dz
∣∣∣ ≤ ∫

γn

|z − z0||ε(z − z0)||dz|

2�� z ∈ γn �� z0 ∈ Δn ⇒ |z − z0| <
LΔ

2n

�
��� ε(z − z0) → 0+ ��� z → z0

⇒ |ε(z − z0)| <
LΔ

2n

⇒ |In| ≤
∫

γn

L

2n

ε

L2
|dz| ≤ L

2n

ε

L2

∫
γn

|dz| =
L

2n

ε

L2

L

2n
=

1

4n
ε

⇒ |I| < 4n ε

4n
= ε ⇒ I = 0

�

������� ���� ,
� A1A2A3...An ⊂ A 
� �
�	����	
 �� γ 
� ��� ����������
�� f 
� ��������	��� A*���+ �		�∫

γ

f(z)dz = 0



(
������	�������	 )) #

A

B

C D

E

F

3�	����	��	*
���������� ABCDEFA = γ

���������� ��'	
� �
��	
	��� ���������	�� ��	
����� 	���#����	�∫
ABFA

f(z)dz +

∫
BEFB

f(z)dz +

∫
BDEB

f(z)dz +

∫
CDBC

f(z)dz

=

∫
ABCDEFA

f(z)dz =

∫
γ

f(z)dz

�	���
∫

BF
+

∫
FB

= 0 �� 1�����

����� ���� .��

� f �
�'���	��� �������� � ��������	��� �����	
� -���!	�∫
γ

f(z)dz = 0 �	��	� �
��	��� �����!��	��� ��������� �
���� γ

"γ′(t) 
� �����'�$

!��
����� .�
	������+ ���� f *��� 
� 	���#����	�����	
 F �������� A� .��

�
z0 ∈ A �		���� �	����

4���	������� ��� F : A → C �����������

F (z) =

∫
J(z0,z)

f(z)dz �	��� z ∈ A+ J(z0, z) = ���� z → z0

4���	���� J1 = J(z0, z)

.�
	������+ ���� F ′(z) = f(z) ∀z ∈ A

.��

� z ∈ A �	��	'����	��� �� 
��

� |h| ��������	 �	��	+ ���� z + h ∈ A

2�� �
� z0 	= h+ �		� z0, z, z + h ��
�
���'�� �
��	
�+ �
��� �	'�	�� 
'��
�����*

J(z0, z) = J1

J(z, z + h) = J2

J(z + h, z0) = −J3

�
�

�

z+h

zz0

−J3 J2

J1

2�� J1∪J2∪−J3 
� �
��	
� ����������� ��������� ��5�
 ������*

∫
γΔ

f(w)dw = 0

w ∈ C∫
γΔ

f(w)dw =

∫
J1

f(w)dw +

∫
J2

f(w)dw +

∫
−J3

f(w)dw

⇒ ∫
J3

=
∫

J1
+

∫
J2

⇔ F (z + h) = F (z) +
∫

J2



�$ �� ������� ��	
����
�
���


J2 = {w | w = z + th, t ∈ [0, 1]} ⇒ J ′
2(t) = h

⇒
∫

J2

f(w)dw =

∫ 1

0

f(z + th)hdt = h

∫ 1

0

f(z + th)dt

�		� F (z + h) − F (z) = h

∫ 1

0

f(z + th)dt

⇔ F (z + h) − F (z)

h
=

∫ 1

0

f(z + th)dt

⇔ F ′(z) = lim
h→0

F (z + h) − F (z)

h
= lim

z→0

∫ 1

0

f(z + th)dt

"f �����'� z*��� ⇒ lim
z→0

f(z + th) = f(z)$

=

∫ 1

0

lim
h→0

f(z + th)dt =

∫ 1

0

f(z)dt = f(z)

∫ 1

0

dt = f(z)

�		� F ′(z) = f(z)

�

����� ���� .��

� f �
�'���	��� �������� A �����'� �����	
 �� 
��

� z0 ∈ A
�		���� �	���+ �
��� f 
� ��������	��� �������� A \ {z0}

-���!	�

∫
γ

f(z)dz = 0 ��	�	��� �����!��	�	��� �������	��� �
��	��� γ

!��
����� .�
	������+ ���� f *��� 
� 	���#����	�����	
 A*���� 4���	�������

F (z) =

∫
J(z0,z)

f(w)dw z ∈ A

F (z + h) =

∫
J(z0,z+h)

f(w)dw+ ��� z + h ∈ A

-������������ ��� �
��	
��+ �
��� ����	�	���� 
'�� z0, z �� z + h

4���	���� ��� Δγ*��� �
��	
�� �
��� ����	�	����� 
'��
z0, z+λ(z−z0), z0+λ(z+h−z0) �� Tλ*��� ��
������	
��+
�
��� ����	�	����� 
'�� z0 + λ(z − z0), z, z + h + λ(z +
h − z0) 0 < λ < 1

z0+λ(z+h−z0)

z+h

z0 z



(
������	�������	 )) ��

2�� �
��	
� z0, z, z + h ����������� γΔ ��	 
����� 	���#����	∫
γΔ

f(w)dw =

∫
γΔλ

f(w)dw +

∫
γTλ

f(w)dw

2�� f 
� �����'� A*��� ⇒
r > 0, |f(z)| 
� ���
	������� �	��
��� Dr(z0) ��	 |f(z)| ≤ M ∀z ∈ Dr(z0)

6��	���� ��� r �		�+ ���� Δ ⊂ Dr(z0)

⇒
∣∣∣ ∫

γΔλ

f(w)dw
∣∣∣ ≤ ∫

γΔλ

|f(w)||dw| ≤ M

∫
γΔλ

|dw| = MLλ

7�
���* ��� λ → 0 �		� Lλ → 0
3�������∫

γTλ

f(w)dw = 0 �	��� f 
� ��������	��� �������� A \ {z0} �� γTλ
⊂ A \ {z0}

�		�

∫
γΔ

f(w)dw =

∫
γΔλ

f(w)dw︸ ︷︷ ︸
→0

+

∫
γTλ

f(w)dw︸ ︷︷ ︸
→0

��� λ → 0

⇒
∫

γΔ

f(w)dw = 0

(���� �����	����� ��������� '
	���� 
�
	����+ ����

F (z + h) − F (z)

h
= f(z) ��� h → 0

⇒ F ′(z) = f(z) ∀z ∈ A
⇒ f 
� ��������	��� A*���

�

%�
&����
 ��

f(z) =

{
sin z

z
z 	= 0

1 z = 0

⇒ f 
� �����'� C*��� �� ��������	��� �
��
��� C \ {0}
⇒ f 
� ��������	��� �
�
 C*���



�� �� ������� ��	
����
�
���
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�
�

����� ���� 0��1��� 	���#����	���'� �	��
���*
,
� f 
� ��������	��� �������� A+ �
�� �	������ �	��
� Dr(z0) = D ���������+
�
	�	� ���
�� Dr(z0) ⊂ A

-���!	�+ �
� z ∈ Dr(z0)+ �		� f(z) =
1

2πi

∫
γD

f(w)

w − z
dw

γD = {z | z = x0 + reit, t ∈ [0, 2π]}

!��
����� 4���	������� �����	
� F (z) =

{
f(w)−f(z)

w−z
q 	= z

f ′(z) w = z
".��

� z ∈ Dr(z0) ��������$

-���!	� F 
� ��������	��� �������� A \ {z}+ �� �����'� A*����
"(
��� lim

w→z
F (w) = f ′(z) = F (z)�$

����� )�� ⇒
∫

γD

F (w)dw = 0

0 =

∫
γD

f(w) − f(z)

w − z
dw =

∫
γD

f(w)

w − z
dw −

∫
γD

f(z)

w − z
dw

=

∫
γD

f(w)

w − z
dw − f(z)

∫
γD

dw

w − z

4���	���� G(z) =
∫

γD

dw
w−z

.�
	������+ ���� G(z) 
� '��	
 Dr(z0)*����

��



�� �� ������� ��	
����
������	

2�� G(z0) =

∫
γD

dw

w − z
=

∫ 2π

0

ireit

reit
dt = i

∫ 2π

0

dt = 2πi

"w = zo + reit, t ∈ [0, 2π] dw = ireitdt w − z0 = reit$

,
� z ∈ Dr(z0) �� |h| 
� �		� �	��	+ ���� z + h ∈ Dr(z0) ⇒

G(z + h) − G(z) =

∫
γD

1

w − (z + h)
dw −

∫
γD

1

w − z
dw

=

∫
γD

( 1

w − (z − h)
− 1

w − z

)
dw

=

∫
γD

(w − z − (w − (z + h))

(w − (z + h))(w − z)

)
dw

=

∫
γD

h

(w − (z + h))(w − z)
dw

= h

∫
γD

1

(w − (z + h))(w − z)
dw

⇔ G(z + h) − G(z)

h
=

∫
γD

( 1

(w − (z + h))(w − z)

)
dw

2�� lim
h→0

∫
γD

( 1

(w − (z + h))(w − z)

)
dw

=

∫
γD

lim
h→0

1

(w − (z + h))(w − z)
dw

=

∫
γD

1

(w − z)2
dw

2�� �����	
��� 1
(w−z)2


� 	���#����	�����	
 −1
(w−z)

(
��� γD 
� �������� ����� ⇒
∫

γD

1

(w − z)2
dw = 0

⇒ lim
h→0

G(z + h) − G(z)

h
=

∫
γD

1

(w − z)2
dw

⇒ G′(z) = 0 ∀z ∈ Dr(z0)

⇒ G(z) = '��	
 z ∈ Dr(z0)



(
������	�������	 )) ��

(
��� G(z0) = 2πi ⇒ G(z) = 2πi, z ∈ Dr(z0)

⇒ 0 =

∫
γD

f(w)

w − z
dw − f(z)

∫
γD

1

w − z
dw︸ ︷︷ ︸

2πi

=⇒ f(z) =
1

2πi

∫
γD

w

w − z
dw

�

%�
&����
 �� ����� 	���#����	
∫

γ
ez

z
dz γ(t) = eit, t ∈ [a, b]

&����	��*

1

2πi

∫
γ

ew

w − 0
= e0

∫
γ

ez

z
dz = 2πi · 1 = 2πi

%�
&����
 �� ����� 	���#����	
∫

γ
ez

z−2
dz ���

γ1 = 3eit t ∈ [0, 2π]
γ2 = eit t ∈ [0, 2π]

&����	��*

D1 = {z ∈ C | |z| < 3} ⇒ γ1 = γD = D1*� �����

2 ∈ D1 ⇔
∫

γ1

ez

z − 2
dz = 2πie2

D2 = {zinC | |z| < 1} ⇒ γ2 = γD = D2*� �����+ �� 2 /∈ D2

ez

z−2
, z ∈ D2 
� ��������	��� ⇒

∫
γ2

ez

z − 2
dz = 0



�� �� ������� ��	
����
������	

%�
&����
 ��

∫
γ

cosh(z2)

z(z2 + 4)
dz γ = {z | |z| = 3} = {z | z(t) = 3eit, t ∈ [0, 2π]}

&����	��*

1

z(z2 + 4)
=

1

z(z − 2i)(z + 2i)
=

A

z
+

B

z − 2i
+

C

z + 2i

=
A(z − 2i)(z + 2i) + Bz(z + 2i) + Cz(z − 2i)

z(z − 2i)(z + 2i)

⇒ A(z − 2i)(z + 2i) + Bz(z + 2i) + Cz(z − 2i) = 1 ∀z

�	�
	������ z = 0 A(−2i)(2i) = 1 ⇔ A = 1
4

�	�
	������ z = 2i B2i(4i) = 1 ⇔ B = −1
8

�	�
	������ z = −2i C(−2i)(−4i) = 1 ⇔ C = −1
8

⇒ 1

z(z2 + 4)
=

1

4z
− 1

8

( 1

z − 2i
+

1

z + 2i

)

⇒
∫

γ

cosh(z2)

z(z2 + 4)
dz =

∫
γ

[cosh(z2)

4z
− 1

8

(cosh(z2)

z − 2i
+

cosh(z2)

z + 2i

)]
dz

= 2πi(1
4
cosh(02) − 1

8
[cosh(−2i)2 + cosh(2i)2])

= 2πi
8

(2 − 2 cosh 4) = πi
2
(1 − cosh 4)

%�
&����
 ��
∫ π

0
ea cos t cos(a sin t)dt a ∈ R, a 	= 0

&����	��*

.��

� γ(t) = {z | z = eit, t ∈ [−π, π]

-������������ 	���#����	�

∫
γ

eaz

z
dz =

∫
γ

eaz

z − 0
= 2πie0 = 2πi

-
	������

∫
γ

eaz

z
dz =

∫ π

−π

eaeit
(ieit)

eit



(
������	�������	 )) � 

= i

∫ π

−π

eaeit

dt = i

∫ π

−π

ea(cos t+i sin t)dt

= i

∫ π

−π

ea cos teai sin tdt = i

∫ π

−π

ea cos t(cos(a sin t) + i sin(a sin t))dt

= i

∫ π

−π

ea cos t cos(a sin t)dt −
∫ π

−π

ea cos t sin(a sin t)dt︸ ︷︷ ︸
=0

= 2πi

⇒
∫ π

−π

ea cos t cos(a sin t)dt = 2π

∫ π

−π

ea cos t cos(a sin t)dt = 2

∫ π

0

ea cos t cos(a sin t)

=⇒
∫ π

0

ea cos t cos(a sin t)dt = π

������� ���� .��������+ ���� f 
� ��������	��� �������� A �� z0 ∈ A� Dr(z0)�

-���!	� f ′(z) 
� 
������� ∀z ∈ Dr(z0) ��

f ′(z) =
1

2πi

∫
γD

f(w)

(w − z)2
dw

!��
����� .��

� z ∈ Dr(z0) �� |h| �		� �	��	+ ���� z + h ∈ Dr(z0)�

2�� 0��1��� 	���#����	���'� ⇒

f(z + h) =
1

2πi

∫
γD

f(w)

w − (z + h)
dw ��

f(z) =
1

2πi

∫
γD

f(w)

w − z
dw

�	���

f(z + h) − f(z) =
1

2πi

∫
γD

f(w)

w − (z + h)
dw − 1

2πi

∫
γD

f(w)

w − z
dw

=
1

2πi

∫
γD

f(w)
( 1

w − (z + h)
− 1

w − z

)
dw



�" �� ������� ��	
����
������	

=
1

2πi

∫
γD

f(w)
(w − z − (w − (z + h))

(w − (z + h))(w − z)

)
dw

=
1

2πi

∫
γD

f(w)
h

(w − (z + h))(w − z)
dw

=
h

2πi

∫
γD

f(w)

(w − (z + h))(w − z)
dw

4���	���� g(w, h) = f(w)
(w−(z+h))(w−z)

�		�
f(z + h) − f(z)

h
=

1

2πi

∫
γD

f(w)

(w − (z + h))(w − z)
dw

⇒ lim
h→0

∫
γD

g(w, h)dw =

∫
γD

lim
h→0

g(w, h)dw =

∫
γD

g(w, 0)dw =

∫
γD

f(w)

(w − z)2
dw

=⇒ f ′(w) = lim
h→0

f(z + h) − f(z)

h
=

1

2πi

∫
γD

f(w)

(w − z)2
dw

�

������� ���� 3������� ����� ������* f ′′(z) =
2

2πi

∫
γD

f(w)

(w − z)3
dw

!��
����� f ′(z + h) − f ′(z) =
1

2πi

∫
γD

f(w)

(w − (z + h))2
dw − 1

2πi

∫
γD

f(w)

(w − z)2
dw

=
1

2πi

∫
γD

f(w)
( 1

(w − (z + h))2
− 1

(w − z)2

)
dw

=
1

2πi

∫
γD

f(w)
((w − z)2 − (w − (z + h))2

(w − (z + h))2(w − z)2

)
dw

=
1

2πi

∫
γD

f(w)
[(w − z − (w − (z + h)))(w − z + w − (z + h))]

(w − (z + h))2(w − z)2
dw

=
1

2πi

∫
γD

f(w)
h · (2w − wz + h)

(w − (z + h))2(w − z)2
dw

=
h

2πi

∫
γD

f(w)
2w − wz + h

(w − (z + h))2(w − z)2
dw



(
������	�������	 )) �#

lim
h→0

f ′(z + h) − f ′(z)

h
= lim

h→0

1

2πi

∫
γD

f(w)(2(w − z) + h)

(w − (z + h))2(w − z)2
dw

=
1

2πi

∫
γD

f(w)2(w − z)

(w − z)4
dw =

2

2πi

∫
γD

f(w)

(w − z)3
dw

⇒ f ′′(z) 
� 
������� ��

f ′′(z) =
2

2πi

∫
γD

f(w)

(w − z)3
dw

�

����� ���� ,
� f �� A 
'�� ����� ������ �� Dr(z0) ⊂ A+ �		� f (n)(z) 
�

������� ∀z ∈ Dr(z0), ∀n = 1, . . . ��

f (n) =
n!

2πi

∫
γD

f(w)

(w − z)n+1
dw

!��
����� )�����	
���

.��������+ ���� f (n)(z) 
� 
������� �� ���� 
��'�� ��
�
�+ ��� n = k� -
	�	�
���
��

f (k) =
k!

2πi

∫
γD

f(w)

(w − z)k+1
dw

2�� f (k)(z + h) − f (k)(z)

=
k!

2πi

∫
γD

f(w)
( 1

(w − (z + h))k+1
− 1

(w − z)k+1

)
dw

=
k!

2πi

∫
γD

f(w)
((w − z)k+1 − (w − (z + h))k+1

(w − (z + h))k+1(w − z)k+1

)
dw

=
k!

2πi

∫
γD

f(w)
((w − z − (w − (z + h)))[ ]

(w − (z + h))k+1(w − z)k+1

)
dw

,
��� [ ] = (w−z)k +(w−z)k−1(w− (z+h))+(w−z)k+2(w− (z+h))2

+ . . . + (w − (z + h))k�



�$ �� ������� ��	
����
������	

,� ��� h −→ 0 [ ] −→ (w − z)k + (w − z)k + . . . + (w − z)k︸ ︷︷ ︸
k+1 ���

= (k + 1)(w − z)k

2�� g(w, h) =
f(w)[ ]

(w − (z + h))k+1(w − z)k+1
dw

−→ f(w)(k + 1)(w − z)k

(w − z)k+1(w − z)k+1
=

f(w)(k + 1)

(w − z)k+2
��� h −→ 0

⇒ f (k)(z + h) − f (k)(z)

h
=

k!

2πi

∫
γD

g(w, h)dw

−→ k!

2πi

∫
γD

f(w)(k + 1)

(w − z)k+1
dw =

(k + 1)!

2πi

∫
γD

f(w)

(w − z)k+2
dw = f (k+1)(z)

)�����	
�
�	���� ����� ⇒ 6�	���

�

%�
&����
 �� 4����� 	���#����	

∫
γ

sin z

(z − π
6
)2

dz ��

∫
γ

sin z

(z − π
6
)3

dz

γ(t) = eit, t ∈ [0, 2π], D1(0) �� π
6
∈ D1(0)

&����	��*

f ′(z) =
1

2πi

∫
γ

f(w)

(w − z)2
dw ⇒

∫
γ

f(w)

(w − z)2
dw = 2πif ′(z)

2�� z = π
6

�		�

∫
γ

fw

(w − π
6
)2

dw = 2πif ′(
π

6
)

�
��� f(z) = sin z, f ′(z) = cos z∫
γ

sin z

(z − π
6
)2

dz = 2πi cos
π

6
= 2πi

√
3

2
=

√
3πi



(
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f (2) =
2

2πi

∫
γ

f(w)

(w − z)3
dw =

∫
γ

sin w

(w − π
6
)3

dw = πif (2)(z) = πi(− sin
π

6
) = −πi

2



�� �� ������� ��	
����
������	
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����� ���� 4
����� �����*
.��������+ ���� A 
� ���� "������	 ������	���$�

.��

� f A*��� ������ �����	
+ �
���∫
γ

f(z)dz = 0 �	��	� �
��	��� ���
	���	� �����!��	��� ��������� ������ γ ⊂ A�

-���!	� f 
� ��������	��� A*����

!��
����� .���������� f *��� 
� 	���#����	����	
 A*���� -
�		� ���
�� 
� 
�� 
����� ����	
� F : A → C �
��� F ′(z) 
� 
������� ∀V ∈ A �� F ′(z) = f(z)�

�		� F 
� ��������	��� A*����

⇒ F ′(z) 
� 
��������

"0��1��� 	���#����	 ���'�� �������$

2�� F ′(z) = f(z) ∀z ∈ A
F ′′(z) = f ′(z) ∀z ∈ A

⇒ f ′(z) = F ′′(z) 
� 
������� ∀z ∈ A

�


�



�� �� ������� ��	
����
������� ���


�����

����� ���� 0��1��� ��������!*
.��������+ ���� f 
� ��������	��� �	��
��� Dr(z0) �� ��!� ��� ��������������

γD = {z = z0 + reit, t ∈ [0, 2π]}�

,
� |f(z)|| ≤ M ∀z ∈ γD �		�

|f (n)(z)| ≤ Mn!

rn
n = 0, 1, 2, . . .

!��
����� 0��1��� 	���#����	���'� ���	'���
	���*

f (n)(z0) =
n!

2πi

∫
γD

f(w)

(w − z0)n+1
dw

2��+ �
� w ∈ γD ⇒ w − z0 = z0 + reit − z0 = reit t ∈ [0, 2π]�

dw = ireitdt

⇒ |w − z0| = |reit| = |r| = r

|f (n)(z0)| =
∣∣∣ n!

2πi

∫
γD

f(w)

(w − z0)n+1
dw

∣∣∣
=

n!

wπ

∣∣∣ ∫
γD

f(w)

(w − z0)n+1
dw

∣∣∣ ≤ n!

wπ

∫
γD

|f(w)|
|w − z0|n+1

|dw|

≤ n!

2π

∫ 2π

0

M

rn+1
rdt =

Mn!

rn

1

2π

∫ 2π

0

dt =
Mn!

rn

�

����� ���� /����	� ����	��'
�����*
.��������+ ���� f 
� ��������	��� ���������� �	��
��� Dr(z0) �� 
��

� γD =
{z = z0 + reit}

-���!	� f(z0) =
1

2π

∫ 2π

0

f(z0 + reit)dt

!��
����� 2�� f(z0) =
1

2πi

∫
γD

f(w)

w − z0

dw

�������� γ = {w|w = z0 + reit, t ∈ [0, 2π]} �� dw = ireit �� w − z0 = reit�

f(z0) =
1

2πi

∫ 2πi

0

f(z0 + reit)ireit

reit
dt =

1

2π

∫ 2π

0

f(z0 + reit)dt

�



(
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����� ���� �	
�'	���� �����*
.��������+ ���� f 
� �
�
 �
������	���
��� ��������	��� �����	
+ �
��� �����

|f(z)| ≤ M ∀V ∈ A �
	�	� ���
�� f 
� ���
	������

-���!	� f 
� '��	
�����	
�

!��
����� .��

� z ∈ C �	��	'����	���� ,
� r > 0+ �		�

|f ′(z)| ≤ 1!M

r
.

7�
�� -��� ����� ∀r > 0�

.��

� ε > 0 ��������
6��	���� r �			� �������	 ����

r >
M

ε
⇒ 1

r
<

ε

M
�

2�� |f ′(z)| ≤ M
2

< ε
M

M = ε�

⇒ |f ′(z)| = 0 ⇒ f ′(z0) = 0�
⇒ f ′(z) = 0 ∀z ∈ C�
⇒ f(z) = a '��	
 C*����

�

%�
&����
  � f(x) = sin x x ∈ R

⇒ |f(z)| ≤ 1 �� f ′(z) 
� 
������� �
�
 R*����

4���� f �	 
�� '��	
�����	
� �		� ����� �	 ���� �����	��'
	�	��� �����	
	����

7�
�� �����	
 f(z) = sin(z) z ∈ C �	 
�� ���
	����� "�	 '
	 
���$8
f ′(z) = cos z ∀z ∈ C �� �
� 
�	�	 |f(z)| ≤ M �
���	� M �		�+ f(z) = '��	
 ⇒
�	��	�		���



�� �� ������� ��	
����
������� ���


�����

����� ���� ��#�9��� ����������*
.��

� p �
���
�	�����	
 C → C "p*� ���� ≥ 1 ��	 
�� '��	
�����	
$�

-!��!	� �����!��� p(z) = 0 
� �	���	� ���	 �����	���

!��
����� ,
� 
� '
	����� p(z) 	= 0 ∀z ∈ C �		� �����	
+

f(z) =
1

p(z)
∀z ∈ C�

f ′(z) 
� 
������� ∀z ∈ C�

⇒ f 
� ��������	��� C*����

-������������ ���������� |f(z)| = | 1
p(z)

= 1
|p(z)| �

.�
	������ �����	+ ���� |p(z)| → ∞+ ��� |z| → ∞�

2�� p(z) = a0 + a1x + a2x
2 + . . . + anxn �� an 	= 0 deg p(z) = n�

⇒ p(z) = zn( a0

zn + a1

zn+1 + . . . + an−1

z
+ an)�

2�� |z| → ∞ ⇒ | a0

zn | = |a0|
|z|n ⇒ a0

zn → 0� 6�����'���	 a1

zn−1 → 0, . . . , an−1

z
→

0 ��� |z| → ∞�

|p(z)| = |z|n︸︷︷︸
→∞

| a0

zn
+ . . . +

an−1

z
+ an︸ ︷︷ ︸

→an

| −→ ∞

lim
z→∞

|f(z)| = lim
z→∞

1

|p(z)| = 0�

⇒ .��

� M1 > 0� ,
� |z| 
� ��������	 ����	+ �
	�	� ���
�� 
� 
�������
R > 0 �
��� �����

1

|p(z)| < M1 ∀|z| > R�

(
��� f(z) = 1
p(z)


� �����'� C�

⇒ f 
� �����'� �	��
��� |z| ≤ R, DR(0).
⇒ �	���
 
� �
�����	+ �
��� ������ ���� |f(z)|, z ∈ DR(0) 
� ���
	�����+
�
�	� ���
�� 
� 
������� M2 > 0+ �
���

|f(z)| ≤ M2 ∀z ∈ DR(0)�



(
������	�������	 )) � 

6��	���� M = max{M1, M2}�

⇒ f(z) ≤ M ∀z ∈ C�

�	�
'	���� ��������� ������

f(z) = '��	
 = a z ∈ C ⇒ 1
p(z)

= a∀z ∈ C�

p(z) = 1
a

= '��	
 �� p*� ���� 
� ��� 5� ⇒ &	��	�		���

�

'��&������ �������*
:
���
�	��� p(z) 
� n ���������� �
����
�	��+ �
� p*� ���� 
� n� "7�
�� ����
'
	'�� ��	����	� 
��� �
�	������	�	� �
����
��	��$

!��
����� p(z) = a0 + a1z + . . . + anzn

⇒ ∃z0 �
��� p(z0) = 0
p(z) = (z − z0)p1(z)
p1*� ���� n − 1
,
� n − 1 ≥ 1 ⇒ p1*��� 
� �
����
����
z1 ⇒ p(z) = 0 ⇒ p1(z) = (z − z1)p2(z)

,� �		� ���������

����� ���� 4���	�	���	�����*
.��

� A ���
	����� ����� .��

� 1�(A) = A ∩ δA�

.��

� f �������� A ��������	��� �����	
+ �
�� 
� �����'� �
��
��� 1�(A)�

,
� f �	 
�� '��	
�����	
+ �		�

max
z∈��(A)

|f(z)| = max
z∈δA

|f(z)|�

7�
�� �		�� ���� A 
� ���
	�����+ ������ 1�(A) 
� �������� �� ���
	������ (
� 
�� f 
� �����'� 1�(A)*���+ �		� ��!� |f | 
� �����'�� -���� ������+ ���� |f | 
�
���'����� ����	���� ��'
��� �� �	��	���� ��'
���� ���
	� 
� 
�������
z0 ∈1�(A) �
���

|f(z0)| = max
z∈��(A)

|f(z)|�



�" �� ������� ��	
����
������� ���


�����

!��
����� 2�� 1�(A) 
� �������� �� ���
	����� �� |f | 
� �����'� 1�(A)*����
⇒ |f | ���'����� ���� �	�	�	���+ ���� ����	�	����
-
	�	� ���
�� 
� 
������� z0 ∈1�(A)+ �
���

|f(z0)| = max
z∈��A

|f(z)|

,
� f 
� '��	
�����	
+ �		� |f | 
� '��	
�����	

⇒ max

z∈��(A)
|f(z)| 
� '��	
 �� = max

z∈δA
|f(z)|�

.��������+ ���� z ∈ A "�
	�	� ���
�� z /∈ δA$�

4���	���� M = maxz∈��(A) |f(z)| = |f(z0)|�

,
� ��� ∃ �	���
 Dr(z0) �
��� |f(z)| < M ∀z ∈ Dr(z0) \ {z0}�

(
��� |f | 
� �����'�+ �		� 
� 
������� δ > 0 �	��� ����

||f(z)| − |f(z0)|︸ ︷︷ ︸
M

| < 1
2
ε ∀z ∈ Dδ(z0)

⇔ −1
2
ε < |f(z)| − M < 1

2

|f(z)| < 1
2
ε + M

2�� �
��� |f(z)| < M ∀z ∈ Dr(z0), z 	= z0

⇒ ,
� ε > 0 ������� ⇒ ∃a ∈ Dr(z0) �
��� |f(a)| < M − ε�

(
��� f �����'� 1�(A)*��� ⇒ 
� 
������� δ > 0 �	��� ����

||f(z) − |f(z0)|| < 1
2
ε �	�� ��� |z − a| < δ�

-���!	� f(z)| < 1
2
ε + |f(a)|1

2
ε + M − ε = M − 1

2
ε �	�� ��� |z − a| < δ�

�z0

r

α0
α

.��

� r0 = |a − z0| > 0�
-������������ �	���
� Dr0(z0) ⊂ Dr(z0)�

.��

� α ����� ��'����� 2�� �	��
� Dr(z0)
���������� 
�

γr0 = {z|z = z0 + r0e
it, t ∈ [0, 2π]}�

2�� /����	� ����	��'
 ����� ⇒



(
������	�������	 )) �#

M = |f(z0)| =
∣∣∣ ∫ 2π

0

f(z0 + r0e
it)dt

)
=

1

2π

∣∣∣ ∫ α0

0

f(z(t))dt +

∫ α0+α

α0

f(z(t))dt +

∫ 2π

α0+α

f(z(t))dt
∣∣∣

≤ 1

2π

(∣∣∣ ∫ α0

0

f(z(t))dt
∣∣∣ +

∣∣∣ ∫ α0+α

α0

f(z(t))dt
∣∣∣ +

∣∣∣ ∫ 2π

α0+α

f(z(t))dt
∣∣∣)

≤ 1

2π

(∫ α0

0

∣∣∣f(z(t))
∣∣∣dt +

∫ α0+α

α0

∣∣∣f(z(t))
∣∣∣dt +

∫ 2π

α0+α

∣∣∣f(z(t))
∣∣∣dt

)
≤ 1

2π

(∫ α0

0

Mdt +

∫ α0+α

α0

(M − 1

2
ε)dt +

∫ 2π

α0+α

Mdt
)

=
1

2π
(Mα + (M − 1

2
ε)α + M(2π − α0 − α))

=
1

2π
(Mα0 + Mα − 1

2
αε + 2πM − Mα0 − Mα)

= M − 1

4π
αε�

M = |f(z0)| =
1

2

∫ 2π

0

f(z0 + reit)dt < M − α

4π
ε < M �

�	��� �	�
� ��	����	��� ����	�	�
���� �	 '
	 
��� A*��� |f |*����

�	��� |f | ��� ����	�	�
������ �������� δA�

�



�$ �� ������� ��	
����
������� ���


�����



�	
	 �

�
��
�� ���������
��
�

��� �����	
�
�
�

())�
���&) ���� .��

� (fn) �
�
 �
��
��� E ⊂ C ����	������� C ��'
	�	�
�����	
	���

,
� f ∈ E+ �		� (fn(z)) 
� �
������	�����
�
� ,
� fn(z) �������� �
��	 �	� 
����� az+ �
	�	� ���
�� lim

n→∞
fn(z) = az+ fn(z) → az �� �������� 
��'� ���
 
�

'
	����� ��	�	��� z ∈ E+ �		� ����!	� ������� ����	
 E → C� 4���	����*

f(z) = az�

⇒ lim
n→∞

fn(z) = f(z) ∀z ∈ E�

-���!	� ���
����+ ���� fn → f �	���	���	��

�		� fn → f �	���	���	� �
��
��� E+ �
� �
��	��� ε > 0 �� z ∈ E �
��	 
� 
�� 
����� N = N(ε, z) ∈ N �
���

|fn(z) − f(z)| < ε �	�� ��� n > N �

,
� fn �	 ������� �
���	� �	������� z ∈ E ⇒ (fn) ����������
" lim
n→∞

fn(z) �	 
�� 
������� ��	 lim
n∞

|fn(z)| → ∞�$

��



�� �� �����	� ��	
���������	

%�
&����
 "�
fn(z) = zn �$ E = {z| |z| ≤ 1

2
}

9$ E = {z| |z| ≤ 1}�
�$ 2�� �
� |z| ≤ 1

2

⇒ |fn(z)| = |zn| ≤ (1
2
)n = 1

2n → 0+ ��� n → ∞�
⇒ |fn(z)| → 0, ��� n → ∞ ∀z+ �
	��� |z| ≤ 1

2
�

9$ E = {|z| ≤ 1}�

|z| = 1 ⇒ z = cos ϕ + i sin ϕ
⇒ zn = cos nϕ + i sin nϕ

,
� ϕ 	= 0+ �		� lim
n→∞

cos nϕ �� lim
n→∞

sin nϕ �	'�� 
�� 
��������

,
� ϕ = 0 ⇒ z = 1+ �
��
	� lim
n→∞

zn = lim
n→∞

1n = 1�

⇒ fn(z) �	 ��������+ ��� E = {z | |z| ≤ 1}�

())�
���&) ���� -���	��� ��������	���*
.��

� (fn) �
�
 E*��� ����	������� C ��'
	�	� �����	
	�� �
	��� �����

fn(z) → f(z) �	���	���	� z ∈ E�

-���!	� ���
���� fn → f ����	����	 E*���+ �
� lim
n→∞

sup
z∈E

|fn(z) − f(z)| = 0

-
	�	� ���
��+ fn → f ��	��	����	 �
��
��� E+ �
� �
��	��� ε > 0 �
��	 
� 
�� 
����� N = N(ε) ∈ N "�	 �		�� z*���$+ �
���

|fn(z) − f(z)| < ε �	�� ��� n ≥ N ∀z ∈ E�

%�
&����
 #� ,
� 
� 
������� �
�
 (an) ⊂ C+ �
��� ∀z ∈ E

|fn(z) − f(z)| ≤ an ��

lim
n→∞

an = 0, fn → f ����	����	�

'��&������ (���� �����	�����	
	��� �		� ��!� C*��� ����� ���
�*
,
� (fn) 
� �
�
 �
��
��� E ⊂ C �����'	� �����	
	��+ �
	��� fn → f ����	����	+
�		� f 
� �����'��



(
������	�������	 )) ��

����� ���� .��

� (fn) �
�
 �������� A �����'	� ����	������� �����	
	��
�� 
��

� γ = {γ(t), t ∈ [a, b]} "���
	���	�$ �����!��	��� ����� �
��� �����
fn → f ��	��	����	 �������� γ� -���!	�

lim
n→∞

∫
γ

fn(z)dz =

∫
γ

lim
n→∞

fn(z)dz =

∫
γ

f(z)fz�

!��
����� ,
���
 γ 
� �
�����	 
���
���
 A*����
⇒ lim

n→∞
fn ⇒ f 
� �����'��

⇒ ∃
∫

γ

f(z)dz

4���	���� L =

∫
γ

|dz| =| ������ γ �	�����

2�� �
� ε > 0 ⇒ 
� 
������� N = N(ε)+ �
���

|fn(z) − f(z)| < ε
L

∀z ∈ γ, n ≥ N �

-����
∣∣∣ ∫

γ

fn(z)dz −
∫

γ

f(z)dz
∣∣∣ ≤ ∫

γ

|fn(z) − f(z)|dz

<

∫
γ

ε

L
dz =

ε

L

∫
γ

dz =
ε

L
L = ε+ �	�� ��� n ≥ N �

⇒ lim
n→∞

∫
γ

fn(z)dz =

∫
γ

lim
n→∞

fn(z)dz =

∫
γ

f(z)dz�

�

����� ���� .��

� (fn) �������� A ⊂ C ����	����� ��������	���� �����	
	���
�
�
+ �
��� fn → f ����	����	 �
��	����� A� �
�����	��� 
���
��
��� E�

-���!	� f 
� ��������	��� A*��� �� lim
n→∞

f ′
n(z) = f ′(z) 
� ����	��� �
��	�����

A*� �
�����	��� 
���
��
��� E�

!��
����� .��

� z0inA ������� �� r �����	��� ���� Dr(z0) ⊂ A� ,
� z ∈
Dr(z0)+ �		�

fn(z) =
1

2πi

∫
γr

fn(w)

w − z
dw, γr = {z | z = z0 + reit, t ∈ [0, 2π]}�

γr ⊂ A �
�����	 ⇒ fn(z) → f(z) ��	��	����	 γr*����

⇒ f(z) = lim
n→∞

fn(z) =
1

2πi

∫
γr

lim
n→∞

fn(z)

w − z
dw =

1

2πi

∫
γr

f(w)

w − z
dw�



�� �� �����	� ��	
���������	

,
� h ∈ C+ �
��� z + h ∈ Dr(z0)+ �		�

f(z + h) − f(z) =
1

2πi

∫
γr

f(w)

w − (z + h)
dw − 1

2πi

∫
γr

f(w)

w − z
dw

=
1

2πi

∫
γr

f(w)
( 1

w − (z + h)
− 1

w − z

)
dw

=
1

2πi

∫
γr

f(w)
h

(w − (z + h))(w − z)
dw ⇒

⇔ f(z + h) − f(z)

h
=

1

2πi

∫
γr

f(w)

(w − (z + h))(w − z)
dw

h→0−→ 1

2πi

∫
γr

f(w)

(w − z)2
dw

⇒ f ′(z) 
� 
������� �� f ′(z) =
1

2πi

∫
γr

f(w)

(w − z)2
dw�

⇒ f ′(z) 
� 
������� ∀z ∈ Dr(z0)+
⇒ f ′(z) 
� 
������� A*���+
⇒ f 
� ��������	��� A*����

3������� f ′
n(z) =

1

2πi

∫
γr

fn(w)

(w − z)2
dw, n = 1, 2, . . . , z ∈ Dr(z0)�

,
� z ∈ Dr/2(z0)+ �		�

|f ′
n(z) − f ′(z)| ≤ 1

2π

∫
γr

|fn(w) − f(w)|
|w − z|2 dw�

(
��� fn(z) → f(z) ����	����	 γr*���+ �		� 
� 
������� N = N(ε)+ �
���

|fn(w) − f(w)| < ε ∀w ∈ γr

2�� z ∈ Dr/2(z0) w ∈ γr ⇒ |w − z| > 1
2
r ⇒ 1

|w−z|2 < 1
( 1
2
r)2

= 4
r2

r︷ ︸︸ ︷︸ ︷︷ ︸
r/2

z0

z

w
|f ′

n(z) − f(z)| ≤ 1

2πi

∫
γr

ε
4

r2
dw

= 1
2π

ε 4
r2 2πr = ε4

r

f ′
n(z) → f ′(z) ����	����	 �
��
��� Dr/2(z0)�

f ′
n(z) → f ′(z) ����	����	 �
��
� A �
���� 

�	��� 
���
��
����

�



(
������	�������	 )) ��

��� 
���
	���

())�
���&) ���� .��

� (fn) �����	
�
�
 E*��� "fn : E → C$� -�������� 
���� ���������������

Sn(z) =

n∑
k=1

fk(z) z ∈ E, n = 1, 2, . . .

-���!	� (Sn) 
� �����	
�
�
 E*����

,
� lim
n→∞

Sn(z) = S(z) 
� 
������� ∀z ∈ E+ �		� �����
∞∑

k=1

fk(z) ���������

4���	���� S(z) =
∞∑

k=1

fk(z) k ∈ E�

�����	
�� Sn(z) ���
���� ������ S(z) n*��	 
���������	�

,
� lim
n→∞

Sn(z) �	 
�� 
������� �
���	� z ∈ E+ �		�
∞∑

k=1

fk(z) �	 ������� E*����

,
� S(z) 
� 
������� ∀z ∈ E+ �		� �����
∞∑

k=1

fk(z) �������� E*����

'��&������ ,
� �����
∞∑

k=1

fk(z) ��������+ �		� lim
k→∞

fk(z) = 0�

"(fn(z) = Sn(z) − Sn−1(z)
n→∞−→ S(z) − S(z) = 0�$

%�
&����
 �$� S(z) =
∞∑

k=0

zk�

Sn(z) = 1 + z + z2 + . . . + zn−1 + zn+

zSn = z + z2 + z3 + . . . + znz + n + 1+

(1 − z)Sn(z) = 1 − zn+1+

Sn(z) =
1 − zn+1

1 − z
�

,
� |z| < 1 ⇒ lim
n→∞

zn+1

⇒ |z|n+1 → 0+ ��� n → ∞
⇒ |z| < 1 ⇒ lim

n→∞
Sn(z) =

1

z − 1
= S(z)�

�		�
∞∑

k=0

zk =
1

1 − z
|z| < 1�



�� �� �����	� ��	
���������	

,
� |z| = 1+ �		� lim
z→∞

|zk| 	= 0 "���� ���� ��'
 �	 
�� 
�������$�
∞∑

k=0

zk ��������� �	�� ��� |z| = 1�

6�����'���	 |z| > 1 lim
k→∞

|z|k = ∞ 	= 0 ⇒ lim
k→∞

zk 	= 0�

�		� ����� ���������+ ��� |z| ≥ 1�

%�
&����
 ��� -������������ ������

S(z) =
∞∑

k=0

zk, z ∈ D1(0), �
	�	� ���
�� |z| < 1�

-���!	� S(z) =
1

1 − z
�

2�� �
��	��� �����	
	��� fk(z) = zk, k = 0, 1, 2, . . . |z| < 1 
'�� �����'	� ��
��������	�	�� -���� ������ S(z) 
� �����'� �� ��������	��� �	��
��� D1(0)�

3��� z0 ∈ C;+ z0 	= 1�
2��

1

1 − z
=

1

1 − z0 − (z − z0)
=

1

(1 − z0)
· 1

1 −
(

z−z0

1−z0

) =
1

1 − z0

·
∞∑

k=0

(z − z0

1 − z0

)k

(
���

∣∣∣ z−z0

1−z0

∣∣∣ < 1 ⇔ |z − z0| < |1 − z0|
)

=

∞∑
k=0

1

(1 − z0)k+1︸ ︷︷ ︸
ak

(z − z0)
k �����'	� �� ��������	�	��

⇒ 1
1−z


� ��������	��� D|1−z0|(z0)�

%�
&����
 ��� <��	����	 ����������	


S(z) =
∞∑

k=0

ak(z − z0)
k


� �����'� �� ��������	���+ �������� �	��
����� DR(z0)�



(
������	�������	 )) � 

S ′(z) 
� 
������� ∀z ∈ DR(z0) ⇒
S ′′(z) 
� 
������� ⇒
S ′′′(z) 
� 
�������

-������������ ��� ������

S(z) =

∞∑
k=0

akz
k, z ∈ DR(0)

1

R
= lim

k→∞
k
√

|ak|�

-���� ������ ���	 ����� �����	���	� ���	'
	�����

f(z) =

∞∑
k=0

kakz
k−1 =

∞∑
k=1

kakz
k−1�

(
��� lim
k→∞

k
√

k|ak| = lim
k→∞

k
√
|ak| =

1

R
��	 ����
	��� 
� ���� ��������	� �����

����� ���� .��

� S(z) �� f(z) ����� ������� -���!	� �
� z ∈ DR(0)+ �		�

S ′(z) 
� 
������� �� S ′(z) = f(z) ∀ ∈ DR(0)� ���� S(k) 
� 
��������

!��
����� .��

� ��� z0 ∈ DR(0)� -������������
S(z) − S(z0)

z − z0
�

(
��� S ′(z) =

∞∑
k=1

kak(z − z0)
k−1, ��� z ∈ DR(z0)�

⇒ S ′(z) 
� ��������	��� �	��
��� DR(z0) �� S ′′(z) =
∞∑

k=2

k(k − 1)(z − z0)
k−2�

2�	� ���������� �������+ ���� S(k)(z) 
� 
������� ∀z ∈ DR(z0) ��
k = 1, 2, . . . S(k)(z) = d

dz
(S(k−1)(z)�

�

��� ��������	��� �����	
� �
�����	������ ���	�����

����� ���� .��

� f ��������	��� �������� A+ �� z0 ∈ A+ �
��� �	���
 Dr(z0) ⊂
A� -���!	� f *��� 
� �	��
��� Dr(z0) ���	�����*

f(z) =

∞∑
k=0

ak(z − z0)
k+ �	���

ak =
1

2πi

∫
γ

f(w)

(w − z0)k+1
dw



�" �� �����	� ��	
���������	

!��
����� 2�� 0��1��� 	���#����	���'���� �������* ,
� z ∈ Dr(z0)+ �		�

f(z) =
1

2πi

∫
γr

f(w)

w − z
dw, γr = {z | z = z + reit, t ∈ [0, 2π]}�

2��
1

w − z
=

1

w − z0 − (z − z0)
=

1

w − z0
· 1

w −
(

z−z0

w−z0

)

=
1

(w − z0)
·
[
1 +

z − z0

w − z0
+

( z − z0

w − z0

)2

+ . . . +
( z − z0

w − z0

)n+1

+

(
z−z0

w−z0

)
1 − z−z0

w−z0

]

=
1

w − z0
+

z − z0

(w − z0)2
+

(z − z0)
2

(w − z0)3
+ . . . +

(z − z0)
n−1

(w − z0)n
+

(z − z0)
n

(w − zn
0 (w − z)

2��

f(z) =
1

2πi

[ ∫
γr

f(w)

(w − z0)
dw + (z − z0)

∫
γr

f(w)

(w − z0)2
dw

+ (z − z0)
2

∫
γr

f(w)

(w − z0)3
dw + . . . + (z − z0)

n−1

∫
γr

f(w)

(w − z0)n
dw

+ (z − z0)
n

∫
γr

f(w)

(w − z0)n+1(w − z)
dw

]
�

��'	
	���� ����
��'�� ��������������� '		��	��� ����	� w ∈ Dr(z0) ⇒
|z − z0|n = rn�

f �����'� �������� γr �� γr 
� �
�����	+ �
��� 
� 
������� M > 0 �
���
|f(w)| ≤ M ∀w ∈ γr�

|w − z| ≥ r − |z − z0| ⇒ 1

|w − z| ≤
1

r − |z − z0| �

⇒
∣∣∣(z − z0)

n
∫

γr

f(w)
(w−z0)n(w−z)

dw
∣∣∣ ≤ |z − z0|n

∫
γr

|f(w)||dw|
|w−z0|n|w−z|

≤ 2πrM

r − |z − z0|n ·
(∣∣∣z − z0

r

∣∣∣n)
�

(
��� |z − z0| < r ⇒
∣∣∣z−z0

r

∣∣∣n → 0, n → ∞�

⇒ f(z)*��� 
� ���	����� �	��
��� Dr(z0) f(z) =
∞∑

k=0

ak(z − z0)
k+ �		�

ak =
1

2πi

∫
γr

f(w)

(w − z0)k+1
dw

ak =
f (k)(z0)

k!

�



(
������	�������	 )) �#

������� ���� �������� A ��������	�	��� �����	
	��� 
� A*� �
��	����� �	�������
��	��	�� ������������ ���	'������ -���!	�

ak =
f (k)(z0)

k!

'��&������ 3����� ����
	��� �	'�� �		�� �	��
� Dr(z0) ���������

())�
���&) ���� �	��� f *��� �����

f(z) = f(z0) +
∞∑

k=1

f (k)(z0)

k!
(z − z0)

k�

-��� 
� �����	
� f -���
� ���	����� �	������� z0 �
�� 
� '
	����� �	��
���
Dr(z0) "���	����� '
	 
��� '
	����� �
�
 C*���$�

%�
&����
 ��� ez ⇒ f ′(z) = ez, f (k)(z) = ez, ∀k = 1, 2, . . . , z0 = 0

ez = f(0) +
∞∑

k=1

f (k)

k!
zk = 1 +

∞∑
k=1

zk

k!
=

∞∑
k=0

zk

k!
�

%�
&����
 ��� f(z) = cos z ⇒ f ′(z) = − sin z,
f(z) = sin z ⇒ f ′(z) = cos z�

sin z = z − z3

3!
+

z5

5!
+

z7

7!
+ . . . ∀z ∈ C

cos z = 1 − z2

2!
+

z4

4!
+

z6

6!
+ . . . ∀z ∈ C

����� ���� <��	���	���	���������*
.��

� f �������� A ��������	��� �����	
+ �
��� f(zn) = 0 �	����
��
��� E =
{zn} ⊂ A+ �
��� 
� ���������	��	��� z′ ∈ A� 4���	���� D′

r(z
′) = Dr(z

′)\{z′}�
-
	�	� ���
�� D′

r(z
′) ∩ E 	= ∅ ∀r > 0.

-���!	� f(z) = 0 ∀z ∈ A�



�$ �� �����	� ��	
���������	

!��
����� .��

� z′ E*� ���������	��	����

(
��� f 
� ��������	��� A*���+ �� z′ ∈ A+ �		� f *��� 
� ���	�����

f(z) =

∞∑
k=0

ak(z − z′)k ������� �	��
��� Dr(z0)�

.�
	������+ ���� ak = 0 ∀k = 0, 1, . . .
,
� �!���� ����
	�	� ak+ �
	��� ak 	= 0+ '��	���� ��	��� ���	���	���� .��

�
���� am� �		� ak = 0 ��� k < m�

⇒ f(z) =

∞∑
k=0

ak(z − z′)k = (z − z′)m

∞∑
k=m

ak(z − z′)k−m

= (z − z′)m[am +

∞∑
k=m+1

ak(z − z′)k−m]�

4���	���� g(z) = am +

∞∑
k=m+1

ak(z − z′)k−m�

2�� g′(z′) = am 	= 0+ �
��� g 
� �����'��
⇒ .� 
������� δ > 0 �	��� ���� g(z) 	= 0 ∀z ∈ Dδ(z0)�
(
��� f(z) = (z − z′)mg(z) ⇒ f(z) 	= 0 �	�� ��� z ∈ D′

δ(z
′)�

4���� �
��� E ∩ D′
δ(z

′) 	= ∅ �		� ������ �	��	�		���

2�	� 
���� ak = 0 ∀k = 0, 1, 2, . . . �� f(z) = 0 ∀z ∈ Dr(z
′)�

�

������� �� � ,
� f �� g 
'�� �������� A ��������	�	� �����	
	�� �
	��� f(z) =
g(z) �
��
��� {zn}+ �
��� 
� ���������	��	��� A���+ �		�

f(z) = g(z) ∀z ∈ A�

-���� ���
���� �'���� '
	���� ����	����� �����	
� f ��������	��� ������	 
����

.��

� f �������� A ��������	��� �����	
 �� 
��

� E ⊂ A ".��������+ �� 
�� E*��� ���������	��	��� A*���$� ,
� ����	������� f0 : E → C �����������
f0(z) = f(z), z ∈ E�



(
������	�������	 )) ��

'��&������ -���!	� 
� 
������� z*� ���������	��	���	��� �����	��!+ �
���
f0 
� ��������	����

f 
� �����	
� f0 : Dr(z
′) → C ��������	��� ������

%�
&����
 ��� -��������	+ �
� |z| < 1, (D1(0)+ �		�

∞∑
k=0

zk =
1

1 − z
= f0(z) �� z0 ∈ C \ {1}�

1

1 − z
=

1

1 − z0 − (z − z0)
=

1

1 − z0
· 1

1 −
(

z−z0

1−z0

)
=

1

1 − z0

∞∑
k=0

1

(1 − z0)k
(z − z0)

k =
∞∑

k=0

1

(1 − z0)k+1
(z − z0)

k = g(z)+

�	���
∣∣∣z − z0

1 − z0

∣∣∣ < 1�

g(z) 
� ����	����� �	��
��� D|1−z0|(z0)�

⇒ g 
� f *� ��������	��� ����� �	��
��� D|1−z0|(z0)+ �� g(z) = f(z)
z ∈ C \ {1}�

%�
&����
 ��� -������������ �����	
��

f(x) = ex, x ∈ R�

-
	������ g(z) = ez = ex+iy = ex(cos y + i sin y)�

g 
� f *� ����� C*��� �� ��������	��� C*����
-���� ����� g 
� ���	���	���	����

6�����'�� ���
���� ����'�� ��!� �����	
	��� f(x) = sin x ⇒ g(z) = sin z ��
f(x) = cos x ⇒ g(z) = cos z+ 
'�� �	�
�� ��������	��� ���	���	���	��� ��������



�� �� �����	� ��	
���������	

��� ��������	��� �����	
� �
����
����

())�
���&) ���� ,
� p 
� C*� �
���
�	+ �
	�	� ���
��

p(z) = anzn + . . . + a1z + a0, an 	= 0, z ∈ C�

,
� p(z0) = 0 ⇒

p(z) = (z − z0)p1(z)+ �	��� p1 
� �
���
�	+ �
��� ���� 
� n − 1�

,
� p1(z0) = 0 ⇒ p1(z) = (z − z0)p2(z) ⇒ (pz) = (z − z0)
2p2(z)

,
� p(z) = (z − z0)
kpk(z) �		� z0 
� p(z)*� k �����	��� �
����
����

-������������ ��� '�����'�� �	�������� ��������	����� �����	
����
.��

� f �������� A ⊂ C ��������	��� �����	
+ �
��� f(z0) = 0 ������� z0 ∈ A�
2�� f *��� 
� �	������� z0 ���	�����

f(z) =
∞∑

k=0

ak(z − z0)
k�

����� ��"� .��

� f �������� A ��������	��� �����	
+ �
��� f(z0) = 0 (z0 ∈
A)� -���!	�

f(z) = (z − z0)g(z), z ∈ A+

�	��� g 
� ��������	��� A*����

!��
����� (�� z 	= z0 ���������

g(z) =
f(z)

z − z0
=

∞∑
k=1

ak
(z − z0)

k

(z − z0)
=

∞∑
k=1

ak(z − z0)
k−1

,
� ���� �����	
 
� ��������	��� A \ {z0}*��� �� �	����	 g(z0) = a1 = f ′(z0)�

⇒ g(z) =

⎧⎪⎨
⎪⎩

∞∑
k=1

ak(z − z0)
k−1, z 	= z0

a1, z = z0

⇒ g 
� ��������	��� A*����

�



(
������	�������	 )) ��

%�
&����
 � � f(z) = sin z, z ∈ C�
f(0) = 0 ⇒ f(z) = zg(z)+ �	��� g 
� �������	��� C*����

g(z) = 1 − z2

3!
+ z4

5!
− z6

7!
+ . . .

%�
&����
 �"� .��

� f(z) =

{
sin z

z
, z ∈ C \ {0}

1, z = 0

⇒ f ��������	��� C \ {0}*��� �� �
��� lim
z→0

sin z

z
= 1 = f(0)

⇒ f �����'� 0*��� ⇒ f ��������	��� C*����

2�� f 
� �����	
� sin z
z

, z 	= 0 ��������	��� ����� C*����

��� �����	
� ����

())�
���&) ���� .��

� A ���� �� z0 ∈ A� ,
� f 
� �������� A \ {z0} ��� 
�����	��� �����	
+ ����!	� �����	
	��� f 
� �	������� z = z0 n*���� �������'�� ����
"n ≥ 1$+ �
�

∃ lim
z→z0

(z − z0)
nf(z) 
� 
������� �� 	= 0 �� 	= ∞�

g(z) → ∞ ⇔ |g(z)| = ∞�

%�
&����
 �#� f(z) = 1
z
, z 	= 0�

-���!	� z = 0 
� 1 �����	��� ����+ �	��� lim
z→0

zf(z) = 1�

����� ��#� ,
� f *��� 
� �	������� z0 ∈ A n*���� �������'�� ����+ �		� f
'
	���� ��	���� ��
�
���

f(z) =

n∑
k=1

ck

(z − z0)k
+ g(z)+ �	��� g(z) 
� ��������	��� A*����

!��
����� .��

� f̂ �����	
+ �
��� f̂ =

{
(z − z0)f(z), ���z 	= z0

lim
z→z0

(z − z0)
nf(z) ���z = z0

⇒ f̂ 
� ��������	��� A \ {z0}*��� �� �����'� A*����
⇒ f̂ 
� ��������	��� A*���+ �	��� ∃ �	���
 Dr(z0) ⊂ A�



�� �� �����	� ��	
���������	

f̂(z) =
∞∑

k=0

ak(z − z0)
k, z ∈ Dr(z0)�

,
� z = z0+ �		� f(z) =
f̂(z)

(z − z0)n
=

∞∑
k=0

ak(z − z0)
k−n

f̂(z)

(z − z0)n
=

a0

(z − z0)n
+

a1

(z − z0)n−1
+ . . . +

an−1

z − z0

+ an + an+1(z − z0) + . . .

=

n∑
k=0

an−k

(z − z0)k
+

∞∑
k=n

ak(z − z0)
k−n�

6��	���� ck = an−k, k ∈ Z+ �� g(z) =
∞∑

k=n

ak(z − z0)
k−n

g ��������	��� �	��
��� Dr(z0) ⇒ g ��������	��� A*����

�

'��&������ ���������������
n∑

k=1

ck

(z − z0)k
���
���� f *� �	�#�����	 
����	

��'���� z0�

%�
&����
 �$� f(z) = ez

z2 + �
��� 0 
� 2 �����	��� �����

lim
|z|→0

z2f(z) = 1 	= 0 ��	 ∞�

ez =
∞∑

k=0

zk

k!
= 1 +

∞∑
k=1

zk

k!
�

f(z) =
1

z2
+

1

z︸ ︷︷ ︸
����	�

�����

+

∞∑
k=0

zk

(k + 2)!︸ ︷︷ ︸

�
�

������



(
������	�������	 )) ��

��� �����	
� �����������	�����

())�
���&) �� � ����� b0 + b1(z − z0)
−1 + b2(z − z0)

−2 + . . .

=
∞∑

k=0

bk(z − z0)
−k =

∞∑
k=0

( 1

z − z0

)k

-��� ����� ��������+ ���∣∣∣ 1

z − z0

∣∣∣ < r �
���	� r > 0, z 	= z0 ⇔ |z − z0| > 1
r

= R�

�		� ���� 
��'� ����� �������� �	��
� DR(z0) �	��
� ���
��
������

������� �������� ����
	������ ������

"�$
∞∑

k=−∞
ak(z − z0)

k�

-��� ����� '
	���� ����� �������	 �������	

"
$
∞∑

k=0

ak(z − z0)
k ��

∞∑
k=1

a−k(z − z0)
−k�

R2︷ ︸︸ ︷︸︷︷︸
R1

z0

������������

2�� �
� "�$*��� ����� �������� �		� �		�� ������+ ���� ����	�	� "
$*��� �����
��������� -���!	� "�$ �������� ���#���������� R1 < |z − z0| < R2+ �	���
R1 < R2�

%�
&����
 ��� �����
∞∑

k=−∞

zk

|k|! �

2��
∞∑

k=0

zk

k!
= ez ��

∞∑
k=1

z−k

| − k|! =
∞∑

k=1

(1
z
)k

k!
= e

1
z − 1�

�	���
∞∑

k=−∞

zk

|k|!e
z + e

1
z − 1 ��������+ ��� z 	= 0 ��	 0 < |z| < ∞�

'��&������ .��

� ��� f ���#���������� r0 < |z − z0| < R0+ �	��� 0 ≤
r0 < R0 ≤ ∞� :��	���� ���������� f *� ���	����� ������� ������� ��������
r0 < |z − z0| < R0�



�� �� �����	� ��	
���������	

.��

� r �� R > 0+ �
	��� r0 < r < R < R0 "'
	 
��� r0 = 0, R0 = ∞$�

4���	���� γr = z0 + reit, t ∈ [0, 2π]
γR = z0 + Reit, t ∈ [0, 2π]

�γR

�
γr

z0
A B

�
�

4�
�
������� ��� �������� ���
	���	� ���� 
�!��	��� ����� γ �����������*

γ = γR ∪ AB ∪−γr ∪ BA�

0��1�� 	����#����	���'���� ������ ⇒

f(z) =
1

2πi

∫
γ

f(w)

w − z
dw

=
1

2πi

(∫
γR

f(w)

w − z
dw +

∫
AB

f(w)

w − z
dw +

∫
−γr

f(w)

w − z
dw +

∫
BA

f(w)

w − z
dw

)

=
1

2πi

(∫
γR

f(w)

w − z
dw −

∫
γr

f(w)

w − z
dw

)
�

2��
1

2πi

∫
γR

f(w)

w − z
dw =

∞∑
k=0

ak(z − z0)
k+ �	���

ak =
1

2πi

∫
γR

f(w)

(w − z0)k+1
dw "-���
� ���	�����$�

3�������

− 1

w − z
=

1

z − z0
· 1

1 − w−z0

z−z0

=
n∑

k=1

(w − zk+1
0

(z − z0)k
+

(w − z0)
n

(z − z0)n(z − w)
|| · 1

2πi
f(w)

⇒ − 1

2πi

∫
γr

f(w)

w − z
dw =

n∑
k=1

a−k

(z − z0)k
+ Rn(z)+

�	��� a−k =
1

2πi

∫
γr

f(w)(w − z0)
k−1dw, k = 1, 2, . . .+ ��

|Rn(z)| =
∣∣∣ 1

2πi

∫
γr

f(w)(w − z)n

(z − zn
0 (z − w)

dw
∣∣∣



(
������	�������	 )) � 

≤ 1

2π

∫
γr

|f(w)|
(|z − z0| − r)

· rn

|z − z0|n |dw|

≤ 1

2π

∫
γr

Mr

(|z − z0| − r)

( r

|z − z0|
)n

|dw|

=
1

2π

Mr2πr

(|z − z0| − r)

( r

|z − z0|
)n

→ 0+ ��� n → ∞�

3����� Mr = max
w∈γr

|f(w)|�
-��� ����	�	 
� 
�������+ �
��� f 
� �����'� γr*���+ �� γr 
� �
�����	�

⇒ |Rn(z)| → 0+ ��� n → ∞
⇒ Rn(z) → 0+ ��� n → ∞

∞∑
k=1

a−k
1

(z − z0)k
���������

2������+ ���� ������� ��������� r < |z − z0| < R 
� '
	����� �
������
��������	�������

-��� ���	����� 
� ���	���	���	���+ �	��� �
� 
� 
������� �	����	

f(z) =

∞∑
k=−∞

bk(z − z0)+ �		�

f(z)

(z − z0)n+1
=

∑∞
k=−∞ bk(z − z0)

k

(z − z0)n+
=

∞∑
k=−∞

bk(z − z0)
k−n−1�

,
� γρ = z0 + ρeit, t ∈ [0, 2π] ⇒

2πian =

∫
γρ

f(w)

(w − z0)n+1
=

∫
γρ

infty∑
k=−∞

bk(z − z0)
k−n−1dw

=
∞∑

k=−∞

∫
γρ

bk(w − z0)
k−n−1dw = 2πibn

⇒ bn = an

=��	� 
��������+ ���� f 
� ��������	��� �������� A \ {z0}�
⇒ ��������	����� 0 < |z − z0| < d+ �
��� d = inf{|z − z0| |z ∈ δA}�



�" �� �����	� ��	
���������	

�� �����	
� ��	�
	��	���	��! "�	�#�����	�	���	��!$

())�
���&) ��"� .��

� f �����	
+ �
�� 
� ��������	��� �������� A \ {z0}+
����� �	 �	������� z0� -���!	� z0 
� f *� �	�#�����	�	��� "��	�
	��	���$�

,
� 
� 
������� δ > 0+ �
��� f ��� �	 
�� ��	�� ��	�
	��	���	�� �	��
��� Dδ(z0)
��	� z0� -���!	� z0 
� f *� ��	������ "	�
�
	��$ �	�#�����	�	����

,
� ��� f 
� ���
	����� �	��
��� Dδ(z) �		� z0 
� f *� ������	��� �	�#�����	�	����

-���!	� f *� ������� �������� ����	�� (z− z0)
k, k = −1,−2,−3, . . . ����
	���

ak 
'�� ��	��	 �
��	�� ,
��� ������+ ���� ������� ���	����� 
� ���� ��	�
-���
� ���	������

,
� z0 
� n ����
	�	��� ����+ �		�

f(z) =
n∑

k=1

ck

(z − z0)k
+ g(z)+

�	��� g(z) 
� ��������	��� 
��� �		�

g(z) =
∞∑

k=0

bk(z − z0)
k�

f(z) =

n∑
k=1

ck

(z − z0)k
+

∞∑
k=0

bk(z − z0)
k�

-��� 
� �����	
� f ������� ���	������

,
� f *� ������� ���	�������� 
� �����!� ����� (z−z0)*� ��#��		'	�	� �
������ 
��+ �		� z0 
� f *� 
�����	��� �	�#�����	�	����



(
������	�������	 )) �#

%�
&����
 ��� f(z) =
ez

z4
+ �
��� 0 
� f *� ��	�
	��	����

2�� lim
z→0

z4f(z) = lim
z→0

ez = 1 	= 0 	= ∞ ⇒ 0 
� 4 �����	��� �����

2�� ez =
∞∑

k=0

zk

k!
�

(�� z 	= 0+ �		�
ez

z4
=

∞∑
k=0

zk−4

k!
=

1

z4
+

1

z3
+

1

2

1

z2
+

1

3!

1

z
+

∞∑
k=4

1

k!
zk−4�

-��� 
� f *� ������� ���	����� �������� C \ {z0}�

%�
&����
 ��� f(z) =
e2z

(z − 1)3
+ �
��� z0 = 1 
� 3 �����	��� �����

4���	���� z − 1 = u, z = u + 1, e2z = e2ue2�

2��
e2z

(z − 1)3
=

e2e2u

u3
= e2

∞∑
k=0

(2u)k

k!

1

u3
= e2

∞∑
k=0

2k

k!
uk−3

= e2 1

(z − 1)3
+ 2e2 1

(z − 1)2
+ 2e2 1

(z − 1)
+

∞∑
k=3

e2 2k

k!
(z − 1)k−3

-��� 
� f *� ������� ���	������

%�
&����
 ��� 4������ �����	
� f(z) =
1

(z + 1)(z + 3)
������� ���	�����+

���

�$ 1 < |z| < 3 9$ |z| > 3

�$ 2��
1

(z + 1)(z + 3)
=

1

2

1

z + 1
− 1

2

1

z + 3
�
���

1

2

1

z + 1
=

1

2

1

z
· 1

1 + 1
z

=
1

2

1

z

∞∑
k=0

(−1

z
)k =

∞∑
k=0

(−1)k 1

2

1

zk+1
=

∞∑
k=0

(−1)k 1

2
z−k−1+

��

1

2

1

z + 3
=

1

2

1

3
· 1

1 + z
3

=
1

2

1

3

∞∑
k=0

(−z

3

)k

=
1

2

∞∑
k=0

(−1)k

3k+1
zk =

∞∑
k=0

(−1)k

2 · 3k+1
zk



�$ �� �����	� ��	
���������	

�		�

1

(z + 1)(z + 3)
=

∞∑
k=0

1

2
(−1)kz−k−1 +

∞∑
k=0

(−1)k+1 1

2 · 3k+1
zk


� �����	
� ������� ���	�����+ ��� 1 < |z| < 3�

9$ |z| > 3�

⇒ 1

2

1

z + 1
=

∞∑
k=0

1

2
(−1)kz−(k+1)

��
1

2

1

z + 3
=

1

2

1

z

1

1 + 3
z

=
1

2

1

z

∞∑
k=0

(
− 3

z

)k

=

∞∑
k=0

(−1)k 1

2
3kz−(k+1)

�		�

f(z) =

∞∑
k=0

(−1)k 1

2
z−(k+1) −

∞∑
k=0

(−1)k 1

2
3kz−(k+1)

=

∞∑
k=0

(−1)k
(1

2
− 1

2
3k

)
z−(k+1) =

∞∑
k=1

(−1)k
(1

2
− 1

2
3k

)
z−(k+1)

-��� 
� �����	
� ������� ���	�����+ ��� |z| > 3�
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())�
���&) ���� .��

� f �����	
+ �
�� 
� ��������	��� �
��
��� Dr(z0) \
{z0}�

f(z) =
∞∑

k=−∞
ak(z − z0)

k�

-���!	� ����
	��� a−1 ���
���� f *� ���	����	 �	������� z = z0�
4���	���� (z0)−1�

����� ���� &��	��� �����*
.��

� f �������� "���
	���	�$ �����!��	��� ������ ���������� �������� ����	��� 
�� �����	
+ �
�� 
� ��������	��� ���� 
��'���� �������� ��	��	 ������
������ 
�� �	�#�����	�	���	�� z1, z2, . . . , zn "'
	 
��� ��!� �����!� �����+ 
��������
��	����	� ������	���$�

-���!	�

∫
γ

f(z)dz = 2πi((z1)−1 + (z2)−1 + . . . + (zn)−1)

!��
����� .��

� γi zi ����	��� ������ �� 
��������+ ���� γi ∩ γj = ∅
∀i 	= j�

⇒
∫

γ

f(z)dz =

∫
γ1

f(z)dz +

∫
γ2

f(z)dz + . . . +

∫
γn

f(z)dz�

⇒ 1

2πi

∫
γk

f(z)dz =
1

2πi

∫
γk

f(z)

(z − zk)−1+1
dz = (zk)−1 ∀k = 1, 2, . . .�

⇒
∫

γ

f(z)dz = 2πi((z1)−1 + . . . + (zn)−1) 

�

��
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�����

��� %��	����� ������	���

z0 
� 1 �����	��� ����*

⇒ (z0)−1 = lim
z→z0

(z − z0)f(z)�

z0 
� n �����	��� ����*

⇒ (z0)−1 = lim
z→z0

1

(n − 1)!

dn−1

dzn−1
((z − z0)

nf(z))

!��
�����

f(z) =
a−n

(z − z0)n
+

a−n+1

(z − z0)n−1
+ . . . +

a−1

(z − z0)
+ a0 + a1(z − z0) + . . .

⇒ (z − z0)
nf(z) = a−n + a−n+1(z − z0) + . . . + a−1(z − z0)

n−1

+ a0(z − z0)
n + a1(z − z0)

n+1 + . . .

⇒ dn−1

dzn−1
((z − z0)

nf(z)) = a−1(n − 1)! + C[(z − z0)] → a−1 ��� z → z0�

⇒ 6�	���

�

%�
&����
 ��� f(z) =
sin z

z2
=

z − z3

3!
+

z5

5!
− . . .

z2
=

1

z
− z

3!
+

z3

5!
− . . .

z0 = 0 
� 1 �����	��� ����+ �� lim
z→0

z
sin z

z2
= 1�

%�
&����
 ��� f(z) =
z2 − 2z

(z + 1)2(z2 + 4)
=

z2 − 2z

(z + i)(z + 2i)(z − 2i)
+ �
���

z0 = −1 
� 2 �����	��� ����+
z1 = 2i 
� 1 �����	��� ����+
z2 = −2i 
� 1 �����	��� �����

(−1)−1 = lim
z→−1

d

dz

((z2 + 1)(z2 − 2z))

(z2 + 1)(z2 + 4)

= lim
z→−1

(2z − 2)(z2 + 4) − 2z(z2 − 2z)

(z2 + 4)2
= −14

15
�



(
������	�������	 )) ��

(2i)−1 = lim
z→2i

(z − 2i)(z2 − 2z)

(z + 1)2(z − 2i)(z + 2i)
=

−4 − 4i

(2i + 1)2 · 4i =
−i + 1

−3 + 4i
=

7 + i

25
�

(−2i)−1 = lim
z→−2i

(z + 2i)(z2 − 2z)

(z + 1)2(z − 2i)(z + 2i)
=

7 − i

25
�

%�
&����
 � � f(z) =
ez

1 − cos z

z = 0 
� f *� ����� ��� ��������� ���������*

2�� lim
z→0

z
ez

1 − cos z
= lim

z→0

ez(1 − cos z

z

)
︸ ︷︷ ︸

→0

+ ��� z → 0�

∣∣∣ zez

1 − cos z

∣∣∣ → ∞+ ��� z → 0 ⇒ 0*� ��������� ≥ 2�

lim
z→0

z2 ez

1 − cos z
= lim

z→0

ez(1 − cos z

z2

)
︸ ︷︷ ︸

→ 1
2

= 2 	= 0 	= ∞�

�	����	 lim
z→0

z3f(z) = lim
z→0

z(lim
z→0

z2f(z)) = 0 · 2 = 0

⇒ 2�'�� z = 0 ��������� 
� 2�

(0)−1 = lim
z→0

d

dz

( z2ez

1 − cos z

)
= lim

z→0

(2zez + z2ez)(1 − cos z) − (sin z)(ezz2)

(1 − cos z)2

= lim
z→0

ez [(2z + z2)(1 − cos z) − z2 sin z]

(1 − cos z)
�

2�� �
� ����	���� [zk]*��� cos*	�	� �� sin*	�	� '�����'	� ����	� k*��� ����� 

��	�+
zk

k!
± zk+2

(k + 2)!
± . . .� 2��

lim
z→0

g(z) = lim
z→0

(2z + z2)( z2

2
+ [z4]) − z2(z − z3

6
+ [z4])

( z2

2
+ [z4])2

= lim
z→0

z3 + z4

2
+ [z5] − z3 + z5

6
+ [z7]

z4(1
2

+ [z2])2

= lim
z→0

1
2

+ [z] + 1
6
z + [z3]

(1
2

+ [z2])2
=

1
2

(1
2
)2

= 2
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�����

��� %��	������������ �
&������	� ����	��������

	���#����	�� ������	����

.��

� F �����	
+ �
��� |F (z)| < M
Rk ∀z = Reit, t ∈ [0, π]+ �	��� k > 1�

�

�

�
γR

−R R

-���!	� lim
R→∞

∫
γR

F (z)dz = 0�

∣∣∣ ∫
γR

F (z)dz
∣∣∣ ≤ ∫

γR

|F (z)||dz| ≤
∫

γR

M

Rk
|dz| =

M

Rk

∫
γR

|dz|

=
M

Rk
πR =

Mπ

Rk−1
−→ 0+ ��� R → ∞ �� k > 1�

-��� ���
��� '
	���� ������� ��'���	 ���	��� ���
�����	���� 	���#����	�� ������	��� 
���

%�
&����
 �"� ����� 	���#����	

∫ ∞

0

1

x2 + 1
dx�

.��

� γ �������� ����� γ = [−R, R] ∪ γR� .��

� Aγ γ*� ������� �����

.��

� F (z) =
1

z2 + 1
�∫

γ

F (z)dz =?

�����	
��� F (z) 
� 1 �����	��� ��'�� z = i �� z = −i �
	��� z = i 
� ��������
Aγ "�
� R > 1$�

&��	��� ����� ���

*∫
γ

1

z2 + 1
dz = 2πi((i)−1)�

(i)−1 = lim
z→i

(z − i)
1

z2 + 1
= lim

z→i

1

z + i
=

1

2i

⇒
∫

γ

1

z2 + 1
dz = 2πi

1

2i
= π�



(
������	�������	 )) ��

⇒ π =

∫
γ

1

z2 + 1
dz =

∫ R

−R

1

x2 + 1
dz +

∫
γR

1

z2 + 1
dz�

,�
∣∣∣ ∫

γ

1

z2 + 1
dz

∣∣∣ =

∫
γR

∣∣∣ 1

z2 + 1

∣∣∣|dz| =

∫
γR

1

|R2ei2t + 1| |dz| −→ 0�

⇒ π = lim
R→∞

(∫ R

−R

1

x2 + 1
dx +

∫
γR

1

z2 + 1
dz

)
=

∫ ∞

−∞

1

x2 + 1
dx + 0 = 2

∫ ∞

0

1

x2 + 1
dx�

⇒
∫ ∞

0

1

x2 + 1
dx =

π

2
�

'��&������ 6
	���� ������ ��!�∫ ∞

0

1

x2 + 1
dx = lim

M→∞

∫ M

0

1

x2 + 1
dx = lim

M→∞

∣∣∣M
0

arctan x = lim
M→∞

arctan M =
π

2
�

%�
&����
 �#�

∫ ∞

0

1

x4 + 1
dx =?

F (z) =
1

z4 + 1
γ = [−R, R] ∪ γR+ ����� �������

z4 + 1 = 0 ⇒ z4 = −1 = ei(π+k2π)

zk = ei(π
4
+k 2π

4
) k = 0, 1, 2, 3 ��	 �����	����

2�	��� z0 �� z1 �����'�� Aγ*���� 2��∫
γ

F (z)dz = 2πi((z0)−1 + (z1)−1)�

z0 = ei π
4 , z1 = ei 3

4
π�

(z0)−1 = lim
z→z0

(z − ei 3
4
π)

z4 + 1
=

”0”

0

������
= lim

z→z0

1

4z3
=

1

4
e−i 3

4 �

(z1)−1 = lim
z→z1

z − ei 3
4
π

z4 + 1
=

”0”

0

������
= lim

z→z1

1

4z3
=

1

4
e−i 9

4 �
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�����

(z0)−1 + (z1)−1 =
1

4
(e−i 3

4
π + e−i 9

4
π) =

1

4
(cos

3

4
π + cos

9

4
π − i(sin

3

4
π + sin

9

4
π))

=
1

4
(cos(π − π

4
) + cos

π

4
− i(sin

3

4
π + sin

π

4
)

=
1

4
(cosπ(− cos

π

4
) + cos π4 − i(− cos π sin

π

4
+ sin

π

4
))

=
1

4
(−i2 sin

π

4
) =

1

4
(−i2

√
2

2
) = −i

√
2
1

4
�∫

γ

F (z)dz = 2πi(−i

√
2

4
) = −i2π

√
2

2
= π

√
2

2
�

π

√
2

2
=

∫
γ

1

z4 + 1
fz = lim

R→∞

(∫ R

−R

1

x4 + 1
dx +

∫
γR

1

z4 + 1
dz

)
�

2�� ��� ����	���� z = Reit, t ∈ [0, π]�∣∣∣ ∫
γR

1

z4 + 1
dz

∣∣∣ ≤ ∫
γR

∣∣∣ 1

z4 + 1

∣∣∣|dz| ≤
∫

γR

∣∣∣ 1

R4ei4t

∣∣∣|dz|

≤
∫

γR

∣∣∣ 1

R4 − 1

∣∣∣|dz| ≤ 1

R4 − 1
πR ≤ 2

R4
πR =

2π

R3
→ 0�

π

√
2

2
=

∫ ∞

−∞

1

x4 + 1
dx + 0 ⇒

∫ ∞

−∞

1

x4 + 1
dx =

√
2

2
π�

⇒
∫ ∞

0

1

x4 + 1
dx =

√
2

4
π�

'��&������ .������ ��
�
�

∫ 2π

0

R(sin t, cos t)dt = I 
��'� 	���#����	� "R(sin t, cos t)


� ���	
����	�� ������� sin t*��� �� cos t*����$

�	�
	�������� z = eit, t ∈ [0, 2π]+ �������

sin t =
eit − e−it

2i
=

z − 1
z

2i
+

cos t =
eit + e−it

2
=

z + 1
z

2
+

dz = ieitdt = izdt dt =
1

iz
dz�

I =

∫
γ

R(
z − 1

z

2i
,
z + 1

z

2
)

1

iz
dz, �
��� γ = {eit|t ∈ [0, 2π]}�



(
������	�������	 )) � 

-��� 
� ���	
����	�����	
� 	���#����	 z*� �������*
p1(z)

p2(z)
�

I = 2πi
∑

zk∈D1(0)

(zk)−1+ �	��� zk 
� 1 ������� �	���	��� �� p1(z)
p2(z)

*� �����

%�
&����
 �$�

∫ 2π

0

dt

3 + 2 sin t
+ �
�
� ��� �	�
	������ z = eit, t ∈ [0, 2π]�

I =

∫
γ

1

iz
dz

3 +
2(z + 1

z
)

2i

=
1

i

∫
γ

1

z

dz

6i + 2z − 2
z

2i

=
1

i

∫
γ

dz
z(2z2+6iz−2)

2zi

= 2

∫
γ

dz

2z2 + 6iz − 2
�

2�'�� 2z2 + 6iz − 2 = 0

⇔ z =
−6i ±√−36 + 16

4
=

−6i ±√−20

4
=

−6i ± 2
√

5i

4
=

−3i ±√
5i

2
�

z0 =
−3ii

√
5i

2
∈ D1(0)�

(z0)−1 = lim
z→z0

(z − z0)
1

2z2 + 6iz − 2

������
= limz→z0

1

4z + 6i
=

1

4z0 + 6i

=
1

−6i + 2i
√

5 + 6i
=

1

2i
√

5
�

I = 2

∫
γ

1

2z2 + 6iz − 2
dz = 2 · 2πi((z0)−1) = 4πi

1

2i
√

5
=

2π√
5
�

'��&������ -������������ ��
�
�

∫ ∞

−∞
f(x)g(x)dx+ �	��� g(x) 
� cos ax

��	 sin ax �� a ∈ R+ a > 0 
��'�� 	����#����	�� 2��

|f(z)| ≤ M

Rk
�
���	� k > 0 �� ∀z = Reit, t ∈ [0, π]�

-���!	� IR =

∫
γR

eiazf(z)dz → 0+ ��� R → ∞�

|IR| =
∣∣∣ ∫ π

0

eiaReit

f(Reit)iReitdt
∣∣∣ ≤ ∫ π

0

∣∣∣eiaReit
∣∣∣|f(Reit)|Rdt
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�����

≤
∫ π

0

∣∣∣eiaR cos t−aR sin t
∣∣∣M
Rk

Rdt =
M

Rk−1

∫ π

0

∣∣∣eiaR cos t
∣∣∣︸ ︷︷ ︸

=1

∣∣∣e−aR sin t
∣∣∣dt

=
M

Rk−1

∫ π

0

e−aR sin tdt =
2M

Rk−1

∫ π
2

0

e−aR sin tdt

≤ 2M

Rk−1

∫ π
2

0

e−
2a
π

Rtdt =
2M

Rk−1

∣∣∣π
2

0
− π

2aR
e−

2a
π

Rt

=
M

Rk

(
− e−

2a
π

R π
2 + 1

)
−→ 0+ ��� R → ∞�

%�
&����
 ���

∫ ∞

0

cos ax

x2 + 1
dx a ∈ R, a > 0, R > 0�

.��

� γ = [−R, R] ∪ γR, γR = Reit, t ∈ [0, π]�

f(z) =
eiaz

z2 + 1
+ �� �
� x ∈ R+ �		�

f(x) =
eiax

x2 + 1
=

1

x2 + 1
(cos ax + i sin ax)

2�� f *� ��'�� z2 +1 = 0 ⇔ z = i ��	 z = −i+ �
	��� i 
� γ*� ����������
���������∫

γ

f(z)dz = 2πi(i)−1�

(i)−1 = lim
z→i

(z − i)
eiaz

(z + i)(z − i)
=

e−a

2i

⇒
∫

γ

f(z)dz = 2πi
e−a

2i
= πe−a�

πe−a = lim
R→∞

(πe−a) = lim
R→∞

∫
γ

f(z)dz = lim
R→∞

(∫ R

−R

eiax

x2 + 1
dx +

∫
γR

eiax

z2 + 1
dz

)
�

g(z) =
1

z2 + 1
z = Reit+

|g(z)| ≤ 1

R2 − 1
≤ 2

R2
�

⇒
∫

γR

f(z)dz → 0+ ��� R → ∞�

I =

∫ ∞

−∞

eiax

x2 + 1
dx + 0 =

∫ ∞

−∞

cos ax + i sin ac

x2 + 1
dx



(
������	�������	 )) �#

=

∫ ∞

−∞

cos ax

x2 + 1
dx + i

∫ ∞

−∞

sin ax

x2 + 1
dx

⇒
∫ ∞

−∞

cos ax

x2 + 1
dx = πe−a ��

∫ ∞

−∞

sin ax

x2 + 1
dx = 0�

⇒
∫ ∞

0

cos ax

x2 + 1
dx =

π

2
e−a�

%�
&����
 ���∫ ∞

0

sin x

x
dx+

γ = [−R,−r] ∪ −γr ∪ [r, R] ∪ γR�

�

�

�
γR

�
γr

−R R

f(z) =
eiz

z
+ �
�� 
� ��������	��� Aγ *���+ �
���

∫
γ

f(z)dz = 0�

-
	������

∫
γ
f(z)dz =

∫ −r

−R

eix

x
dx +

∫
−γr

f(z)dz +

∫ R

r

eix

x
dx +

∫
γR

f(z)dz

= I1 +I2 +I3 +I4.

I4 =

∫
γR

f(z)dz → 0�

I1 =

∫ −r

−R

eix

x
dx "�	�
	������ x = −t, dx = −dt$

=

∫ r

R

e−it

−t
(−dt) = −

∫ R

r

e−ix

x
dx�

I1 + I3 =

∫ R

r

(eix − e−ix)

x
dx =

∫ R

r

2i sin x

x
dx�

I2 =

∫
−γr

eiz

z
dz = −

∫ π

0

eireit

reit
ireitdt = −i

∫ π

0

eireit

dt�

lim
r→0+

∫
γr

f(z)dz = lim
r→0+

−i

∫ ∞

0

eireit

dt = −i

∫ π

0

lim
r→0+

eireit

dt = −i

∫ π

0

dt = −πi�

2��



�$ �� �
����� 
���
 �� ���


�����

0 = I1 + I2 + I3 + I4 = I1 − πi + I3 + 0 −→ 2i

∫ ∞

0

sin x

x
dz − πi+ ��� R → ∞�

⇒ 2i

∫ ∞

0

sin x

x
dx − πi = 0

⇒
∫ ∞

0

sin x

x
dx =

π

2
�


